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Retiree group says Social Security doesn't contribu te
a penny to U.S. deficit
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The Texas AFL-CIO’s Ed Sills noted in his July 12 email blast of labor-related news that a
Washington group was urging people to call their U.S. senators about preserving Social
Security.

In asking its members to call their senators, the Alliance for Retired Americans said: "Social
Security faces an immediate threat from politicians in Washington" who want to cut the
program’s cost-of-living inflation adjustment "to reduce the deficit. But Social Security doesn’t
contribute a penny to the deficit."

Not a cent?

That's an eye-catching claim because last year for the first time since 1983, Social Security’s
income from payroll taxes did not cover what it paid beneficiaries. The Social Security
Administration’s summary of its 2011 annual report says the program ran a "cash deficit" of
$49 billion in 2010 and is projected to run a $46 billion deficit in 2011. The summary
attributes these shortfalls in part to the weakened economy. It also says that in 2012-14, the
agency expects such deficits to shrink as the economy strengthens. In subsequent years,
though, Social Security’s deficits are expected to grow rapidly as the "number of beneficiaries
continues to grow at a substantially faster rate than the number of covered workers."

The agency doesn’t say Social Security is going broke. Through 2022, it says, "annual cash
deficits will be made up by redeeming trust fund assets" from the U.S. Treasury.

Some "trust fund" background: When Social Security’s payroll tax income exceeds payments
to beneficiaries, the government spends the surplus as general revenue and the Treasury
gives Social Security interest-bearing bonds in return. When Social Security has to redeem its
"trust fund assets" to cover a difference between income and payments, it is relying on these
bonds and the interest they generate.

As of December 2010, there was about $2.6 trillion in Treasury bonds and related interest in
Social Security’s trust fund. Barring changes in law, the agency’s summary report says, the
trust fund’s balance will be exhausted in 2036. "Thereafter, tax income would be sufficient to
pay only about three-quarters of scheduled benefits through 2085," the summary states.

So the question is, when Social Security’s trust fund is used to cover benefits, is Social
Security contributing to the government’s overall deficit, which was approaching $1.4 trillion
when we started this review?

David Blank, spokesman for the Alliance for Retired Americans, said the group made its not-a-
cent claim because Social Security is financed by the payroll tax paid by workers and
employers on each worker's first $106,800 of annual income, supplemented by income from



the government bonds purchased by the program in surplus-income years.

"Social Security is prohibited from spending any money beyond what it has in its trust fund,"
Blank said by email. "This means that it cannot lawfully contribute to the federal budget deficit,
since every penny that it pays out must have come from taxes raised through the program or
the interest garnered from the bonds held by the trust fund."

Blank’s bottom line: Social Security "is a self-financed program."

Correct, said Ben Veghte, a research associate at the National Academy of Social Insurance,
whose mission is to "promote understanding of how social insurance contributes to economic
security and a vibrant economy." Veghte told us that because Social Security is considered an
"off-budget" independently financed program, it simply can’t contribute to the general
government deficit. When it needs to draw on revenue from bonds that were purchased in
earlier years, he said, it's simply fetching due returns. At this time, he said, Social Security is
funding 83 percent of its benefits from payroll taxes, 13 percent from interest on bonds and 3
percent from taxing the benefits of high-income recipients.

Neil Buchanan, a professor of law at George Washington University who's disputed claims that
Social Security is in the ditch, said the program’s 2010 and expected 2011 cash deficits might
have been hurried along because of the latest recession, but it’s long been known that as baby
boomers started to retire, each year’s payroll tax income for Social Security would stop
covering all the costs of benefits.

However, Buchanan said, it's possible to conclude that the recent cash deficits contributed a
trivial amounts to the federal deficit.

Jagadeesh Gokhale, a senior fellow at the libertarian-leaning Cato Institute, said in an
interview that whenever Social Security taps proceeds from its U.S. bonds, it’s clearly affecting
overall government spending because the Treasury has to get the money somehow, usually by
borrowing money from another source. "Basically the liability of the federal government to
Social Security is going to be exchanged for liability to the public," Gokhale said. "So, yes, if
Social Security is redeeming Treasury IOUs to pay scheduled benefits, it is contributing to the
federal government’s unified federal deficit."

Unified?

The Social Security Administration says the "unified" budget encompasses all of the
government’s budgetary activities, excluding Social Security and Post Office operations, with
the unified budget deficit being the measure that determines how much the government has
to borrow from the public to meet its obligations. Then again, it notes, "those involved in
budget matters often produce two sets of humbers, one without Social Security included in the
budget totals and one with Social Security included. Thus, Social Security is still frequently
treated as though it were part of the unified federal budget even though, technically, it no
longer is."

Feeling flummoxed, we heard back from June O’Neill, who headed the nonpartisan
Congressional Budget Office for part of the 1990s. O’Neill, an economics professor at Baruch
College, City University of New York, aligned with Gokhale of the Cato Institute, saying that
whenever Social Security doesn't collect enough in payroll taxes to cover benefits, its need for
additional money naturally ripples through the entire budget.

She pointed out, though, that Social Security in 2010 and this year is hardly responsible for a
big part of the deficit. Also, she stressed, it would have been incorrect to say Social Security
contributed to deficits before last year. That's because more money came in via payroll taxes
than was paid out in benefits.

O’Neill said all government programs contribute to the deficit. "There’s nothing special about"
Social Security on this point, she said. Put another way, she said, the CBO tracks government



receipts and expenditures; Social Security’s money in and money out are included.
We're expertised out.

And our conclusion is that there's a legitimate rationale for saying Social Security doesn’t
contribute to the deficit. After all, it draws on a payroll tax to pay for itself and has built up
$2.6 trillion in Treasury I0Us and interest to cover cash shortfalls.

However, when Social Security draws from its trust fund, as it did last year and will again this
year, it is asking Treasury for money that has to come from the overall budget. And these
transactions contribute to the overall federal deficit--not much perhaps, but more than a
penny.

We rate the statement Mostly False.



